SHIGA Infectious Diseases Report
6 4 18 (2006 ) 2 3

077-537-3051 FAX 077-534-3936

1 16 1 22
A
1
1
5
/ B
yt3 E3 m4
35 |-=
30 5
25 =
20 5
15 |§
10 =
5 = =
= = -
Q_%
N v Y,
5 5 4
s B
=
oA
£
=
\_ Y,
1999 2006
. B
—— —— 1999 2006 H11 HI16
50 — —
—— ——
40 —
- 2006 14
200 2003
N

//idsc.nih.go.jp/index-j.html)


http://idsc.nih.go.jp/idwr/pdf-j.html

17
(4) | (4) (4)
0 0 0 0 0
0 21 31 °7 556
0 0 4 0 50
0 0 40 12 3,567
E 0 0 ‘1 0 40
A 0 0 ‘8 1 168
0 0 2 1 34
0 0 2 1 73
0 0 4 0 66
0 0 19 3 276
1 2 23 5 680
0 0 15 2 277
0 0 13 2 147
1 2 10 0 60
0 1 50 7 1,161
0 0 7 0 81
0 0 29 0 555
0 0 2 0 114
0 0 2 2 65
0 1 ‘1 2 180
117
2 26 1
3 26 3
4 18 iDWR
fa ,
iDWR2006 2 1/9 1/15
| L 6
1 E 1o 2
i A 6 1
9 4 1
31 6 |
&
53 53
1.00
1) 17 51 18 4 12/19 1/29
1 - i
51 52 1 2 3 4
12/19 [12/26 |(1/2  |(1/9 (/16 [(1/23 |52 1] 2 3] 4
3.04 651 1061] 2110 3476 4045t [t 1 [t 1
RS 043 043 0.16 0.28 0.18 009 . |t Lol
021 0.03 0.03 0.06 0.03 003 | -t .
A 1.09 042 047 075 075 100 |t 1 | -t
9.30 4.94 2.81 4.88 3.97 359 L )t Ll
142 1.94 197 1.44 159 1191t Lt !
021 0.03 0.16 0.03 0.06 ol 1t Lt !
0 0.06 0.03 0.09 0.25 0.06(1 EED !
0.36 052 041 059 041 0.34(1 Lt Ll
0 0 0 0 0 ol o o o o o
0 0 0 0 0 ol o o o o o
0 0.03 0 0 0 o[t NN
0 0 0 0 0 ol o o o o o
061 061 091 075 053 041 - 1 VL
0 0 0 0 0 ol o o o o o
0.14 0.29 043 0.14 0 029t 1 D
0 0 0 0 0 ol o o o o o
0 0 0 0 0 ol o o o o o
0 0 0 0 0 ol o o o o o
0 0 0 0 0 ol o o o o o
0 0 0 0 0 o o o ol o o




&)

4 1/23 1/29

40.4559.00 | 26.20 [ 50.14 | 28.25 | 49.43 | 20.86 | 67.00
RS 0.09 0| 016 025 0 0 0 050
0.03 0 0 0 0 0 0| 050
A 1.00 0| 033 300 160 050 200 0

359| 586 533 275 160 3.00 0 550| M|

1.19| 086 133 225 060 250 025 050 |
0 0 0 0 0 0 0 0
0.06| 0.14 017 0 0 0 0 0
0.34| 057 | 067 0 020 0| 050 0
0 0 0 0 0 0 0 0
0 0 0 0 0 0 0 0
0 0 0 0 0 0 0 0
0 0 0 0 0 0 0 0
0.41| 1.00 0 0| 100 025 0 0
0 0 0 0 0 0 0 0
0.29 0 0 0| 1.00 0 0| 1.00
0 0 0 0 0 0 0 0
0 0 0 0 0 0 0 0
0 0 0 0 0 0 0 0

0 0 0 0 0 0 0 0
0 0 0 0 0 0 0 0
0 5 10 1520 25 30 3540 45
RS A
A
v oTA
<< ss Lo
5
30
10

http://idsc.nih.go.jp/disease/influenza/inf-keiho/guide05.html



http://idsc.nih.go.jp/disease/influenza/inf-keiho/guide05.html

H18.1.2 H18.1.29

60 -
50
40 {-
30 1
,
20 / H17 [
10
1 4 7 10131619 22 2528 313437 4043464952 | L L. .
12 - 06 -
1
08 04
06 S
04 02 £ ——
0.2 [T=~ —
Om_A_wa A Db e NS it o S N T R A N L N
1 4 7 10 13 16 19 22 25 28 31 34 37 40 43 46 49 52 1 4 7 10 13 16 19 22 25 28 31 34 37 40 43 46 49 52
25 r A 1.
2
15 | -
. 05
14 a_ A
N ,
0 T T T T T Y I B B 0 O O
1 4 7 10 13 16 19 22 25 28 31 34 37 40 43 46 49 52 1 4 7 10 13 16 19 22 25 28 31 34 37 40 43 46 49 52
20 ¢ 01 -
15 0.08
0.06
10
S 0.04
S’K 0.02
R R A Y 0m"bA_L\\\\\\\\\\\\J_L\\J_L\\\\J_L\\\\\J_L\\\\\ (IR Y|

1 4 7 10 13 16 19 22 25 28 31 34 37 40 43 46 49 52

1 4 7 10 13 16 19 22 25 28 31 34 37 40 43 46 49 52

1 4 7 10 13 16 19 22 25 28 31 34 37 40 43 46 49 52

01

ooee. i Lot [ L L [ R R (L S ]

1 4 7 10 13 16 19 22 25 28 31 34 37 40 43 46 49 52

15

05

1 4 7 10 13 16 19 22 25 28 31 34 37 40 43 46 49 52

0 lewieoiiiat it cn

RN Lol ol bl

1 4 7 10 13 16 19 22 25 28 31 34 37 40 43 46 49 52




H18.1.2 H18.1.29

H17 [ H18 [ ——o
014 0.16
0.12 0.14
01 0.12
01
0.08
0.08
0.06
0.06
0.04 0.04
0.02 002 b—borern 1L L .
0 oo bt R T B R BRI N BRI I R N A | 0;;b\\\\\\\\H\\\\\\J_L\\\J_L\\\\H\\\\\\\H\\\\\\\\HJ_A
1 4 7 10 13 16 19 22 25 28 31 34 37 40 43 46 49 52 1 4 7 10 13 16 19 22 25 28 31 34 37 40 43 46 49 52
18 r 06 r
16 [
A 0.5
14 At &
12 * 04 — —
L i 03
0,8\ '
0,6% —\ 0.2
04
0.1
0.2
0 I T T Y B A A A N | 0““LJ_LJ_L\\\\\\\\J_L\\\J_LJ_A_L\\\J_LJ_A_LJ_A_LJ_L\\\\\\\\\\\\J_A
1 4 7 10 13 16 19 22 25 28 31 34 37 40 43 46 49 52 1 4 7 10 13 16 19 22 25 28 31 34 37 40 43 46 49 52
07 - RS 05 -
06 0.45
04
05 0.35
0.4 03 -
025 |~
0v3 A 0‘2 "
0,2‘ 0.15
01 \ 01
' d 0.05
0 b S A 0 lseset N PN W /I O AT [ P
1 4 7 10 13 16 19 22 25 28 31 34 37 40 43 46 49 52 1 4 7 10 13 16 19 22 25 28 31 34 37 40 43 46 49 52
0.15 0.035
0.03
0.025
0.1
0.02 —r —
0.015 =
0.05 0.01 .' - PR S — AP R
W 0.005 |+
1 4 7 10 13 16 19 22 25 28 31 34 37 40 43 46 49 52 1 4 7 10 13 16 19 22 25 28 31 34 37 40 43 46 49 52
18 001
16
14
12 —
1
0.005
08 ===
0.6 -
o2 \ 7
02 R
0 \V\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\ 0M\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\J_[

1 4 7 10 13 16 19 22 25 28 31 34 37 40 43 46 49 52

1 4 7 10 13 16 19 22 25 28 31 34 37 40 43 46 49 52




